FE450: Game Theory

Homework 2
Due Sept. 9th    

Please indicate the students that you worked on this homework assignment with, if any.

From the text:

1. text #27.8
2. text #27.11
3. text #27.19
4. text #27.23

5. Person 1 cares about both her income and person 2’s income. In fact, the value (or utility) she receives when player 2’s income increases by $1 is ½ the value she receives when her own income increases by $1. For example, she is indifferent between a situation when her income is $1 and when player 2’s income is $2. How do her preferences order the outcomes (1,4), (2,1), and (3,0), where the first number indicates player 1’s income and the second number indicates player 2’s income? Provide a utility function consistent with her preferences.

6. text #3.1
7. text #3.11
8. text #3.12
